Sample Questions

Part A : Physics & Chemistry

1.

A Particle moving along a circle with a constant speed has :

(A) Constant Velocity (B) Constant Acceleration

(C) Radically inward acceleration (D) Radically outward acceleration
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Which of the following correct representations the relation between P and T for a adiabatic
process :

(A) PTY = Constant (B) PT' = Constant

(C) PT' = Constant (D) P'T = Constant
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If surface tension of a liquid is 5 x 10 N/m and weight of the liquid column is 6.28 x 10
Kg. Find out the radius of the capillary tube?

(A)2x 10%m (B)25x 107 m

(C)2x10%m (D)4x 10° m
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Charge q enclosed in closed surface then flux is equal to how many times of charge :
(A) g, (B) /g,

(C) Vdne, (D) 4re,
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If a particle moves as x = at*, y = bt?, its velocity at time t:

(A) 2t(a2+b2)11’2 (B) t(a2+b2)1f2

(C) [t(a>+b2)172]/2 (D) None of the above
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10.

A mass m is raised from a distance 2R_from surface of earth to 3R , work done to do so
against gravity will be:

(A)mgR /10 (B)mgR /11

(C)mgR /12 (D) mgR /14
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[~ particle is emitted when:

(A) Neutron is converted into proton (B) electron is emitted from inner shells

(C) proton is converted into neutron (D) electron is emitted from outermost shell
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Two plane mirrors are inclined at 60 degree to each other. The number of images formed
by them will be :

(A)5 (B) 6

(C) 8 D)7
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Which of the following is nearest to a blackbody :

(A) Carbon black (B) An enclosure with a small hole

(C) Asbestos (D) none of the above
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Which of the following is not having Electromagnetic wave nature :

(A) X-rays (B) Ultraviolet rays

(C) Brays (D) Microwave
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Chemistry :

1.

The correct order of first ionization energy is:

(A)C> B> Be> Li (B) C>Be>B>Li
(CO)B>C>Be>Li D)Be>Li>B>C
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(F)C>B>Be>Lli (4) C*Be>B> Li

(4) B>C>Be>Li (F)Be>Li>B>C

Which of the following has permanent dipole moment?

(A} CF, (B) SF, (C) XeF, (D) BF,
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(31) CF, (%) SF, (F) XeF, (<) BF,
Which one molecule has 3 centre-2 electron (3¢c-2e) type bonds ?

(A) BH, (B) XeF, (C) PCL, (D) SO,
1 § O form T 919 H 3c-2e TR T T GRT ST 8 ®

(31) BH, (d) XeF, (q) PCl, (2) SO,
Correct relation for B, is:

(A) Bond order = 1.0, Diamagnetic. (B) Bond order = 1.0, Paramgnetic.
{C) Bond order = 1.5, Diamagnetic. (D) Bond order = 1.5, Paramgnetic.
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Which one is strongest acid?

(A HO—@—H (B) HO@CHS
ON
(C) HO—@H o)) HO@NOQ
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Correct order of stability of carbocations is:
(A)3°>2°>1° (B)3°>1°>2° CIPBers g
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(H)F>PP (F)FP>1°>P (W) 15527 5 3°

D)2°>3°>1°

(3)2°>3°> 1°



What is the correct order of reactivity for S, 1 reaction?

(A) CH, X <RCHX <RCHX<RCX (B)RCX<RCHX<R-CHX<CH,X
(O)CH, X< RCHX <R-CHX <RCX D)RCX<RCHX<RCHX<CH, X
8,1 =t < fery foramiierd &1 &l FA F g 2

() CH, X < R-CHX<RCHX <RCX (¥) RCX<RCHX<R-CHX < CH, X
(") CH, X < R,CHX <RCHX<RCX (3) R,CX<RCHX<R,CHX <CH, X
What will be the pH of 10*M HCI?

(A) 6.9 (B) 8.0 7.1 D)7.0
10%M HCl =T pH =1 g ?

() 6.9 (9) 8.0 (g) 71 (1) 7.0
What will be consequence on density in Frankel defect?

(&) Decrease (B) Increase

(C) Same (D) First decrease than increase
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Caleulate the rate constant for first order reaction, the initial concentration of reactant is
M/10 and after 8 minute 20 second the concentration of reactant is M/100.

{A) 4.606 x 10°® sec.? Ig 8.212 x 10° sec1 ]
(C) 2.303 % 10%sec. S A Toh AL =
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